BFISX1 (BH)

BEE BEF
IBG | BB | €'9rY| BFL 957 2E| B8R
1 12 |&% RE =2 ETFREHZE N3 [ 9.850
2 10 |XK) fE =2 EFREHZE /N2 [ 9.700
3 8 [|IFE REst FFAFNAR Y557 /N[ 9.400
3 11 |Hh #E =2 EFREHZE N3 | 9.400
5 3 |B¥H KHE ith £ 2R —94957 N[ 9.250
6 2 |AX BZ ith £ AR —94957 N[ 9150
6 9 |BEE EX FFAFNAR Y557 N3 [ 9.150
6 16 /MR = R AZTIKIEIF7 N[ 9150
9 1 | FIR ith £ 2R —94957 /N | 8.850
9 4 |2 Bt it ERE—Y957 /N3 | 8.850
1 13 | & THAEIZT IN5 [ 9.450
2 5 |BE K— FFAFNAR Y557 N5 [ 9.350
2 6 |IUE FHE FFITNRE Y957 N5 [ 9.350
2 7 |WHE =3 FFITNRE V957 N5 [ 9.350
5 14 |&ZH #3 THAEIZT /N5 [ 9.300
6 15 |HE & THAEIZT /N5 | 9.050




BFIS5RA1 (BAR)

BRE SEF
IBGL | IERL | €'9hy | BFSA 9357 FE| BR
1 12 |&%W RE =2 EFRIEHE N3 [ 9.800
2 1 | FIR ith £ 2R —94957 /N[ 9500
3 10 [K) fE B ETFRIEHE /N2 | 9.400
4 9 |BEE EX FFAFNAR Y557 N3 [ 9.200
4 11 |Hh #E =2 ETFREHZE N3 [ 9.200
6 3 |B¥H KHE ith £ 2R —94957 N[ 9150
7 4 |2 Bt it ERE—v957 /N3 | 9.100
8 2 |AX &= ith £ AR —94957 /N[ 9.050
9 16 /MR = R A-TIKIEIFT /N[ 9.000
10 8 [|IFE REst FFAFNAR Y557 /N [ 8.600
1 13 | & THAEIZT /N5 [ 9.600
2 14 |&ZH #39 THAEIZT N5 [ 9.350
3 6 |IUE M FFITNRF—Y957 /N5 | 9.300
4 5 |BkE K— FFAFNAR Y557 IN5 [ 9.250
5 7 |WHE =3 FFITNRE Y957 /N5 [ 8.900
5 15 |5 Z THAEIZT /N5 | 8.900




BFHSRI (LEVFE)
i -

IBGL | IERL | €'9hy | BFSA 9357 FE| BR
1 2 |BEX &= t ERR-9957 /[ 9.100
2 1 | FIR ith £ 2R —94957 /N[ 9.050
3 12 |&%W RE =2 EFREHZE /N3 [ 9.000
4 8 [|IFE REst FFAFNAR Y557 N[ 8.950
5 9 |BEE EX FFAFNAR Y557 N3 [ 8.900
6 10 [XK) fE =2 ETFREHZE N2 | 8.850
7 4 |2 Bt it ERE—v957 /N3 | 8.750
8 16 /MR = R AZTIKIEIFT /N | 8.700
9 3 |B¥H KHE ith £ 2R —94957 /N | 8.650
10 11 |Hh #E =2 EFREHZE /N3 | 8.600

1 7 |WHE =3 FFITNRK—Y9757 /N5 | 9.300
2 5 |BE K— FFAFNAR Y557 /N5 [ 9.200
3 13 | & THAEIZT N5 [ 9.150
4 6 |IUE M FFITNRF V957 /N5 | 9.050
4 14 |(&HE THAEIZT /N5 | 9.050
4 15 |&HE & THAEIZT /N5 | 9.050




BFISRI ()

BRE SEF
IBGL | IERL | €'9hy | BFSA 9357 FE| BR
1 12 |&%W RE =2 EFREHE N3 [ 9.750
2 9 |BEE EX FFAFNAR Y557 N3 [ 9.600
3 10 [K) fE =2 EFREHZE N2 [ 9550
4 8 [|IFRE REst FFAFNAR Y557 /N[ 9500
5 4 |2 Bt it ERE—v957 /N3 | 9.400
6 11 |Hh BE =2 ETFREHZE N3 [ 9.250
7 1 | FIR ith £ 2R —94957 /N[ 9.200
8 2 |AX BZ ith £ AR —94957 N[ 9150
8 3 |B¥H KHE ith £ 2R —94957 N[ 9150
10 16 /MR = R A-TIKIEIFT /N | 8.850
1 5 |BE K— FFAFNAR—Y557 /N5 [ 9.700
2 7 |WuHE =3 FFITNRF—Y957 /N5 | 9.500
3 6 |IUE FHE FFITNRF—Y957 /N5 | 9.400
3 15 |HEF = THAEIZT /N5 [ 9.400
5 13 [FiR E THAEIZT N5 [ 9.200
6 14 |&ZH #83 THAEIZT /N5 | 9.050




